Answer Sheet No.

Sig. of invigilator.

...........................................................................................................................................................................

SOCIOLOGY HSSC-II
SECTION - A (Marks 20)

Time allowed: 25 Minutes

NOTE: Section-A is compuisory . All parts of this section are to be answered on the question paper itself.
It should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

i Which of the following is a white-collar crime?
A Bank dacoity B. Kidnapping for ransom
" C.° " Robbery - ‘- D. Embezziement
(i) The gap between the government and the public is bridged through:
A Sccialization B. Good Governance
C. Religious Education D. Formal Agencies
(iii) Research which adds to knowledge is:
A Applied Research B. Descriptive Research
C. Formulative Research D. Pure Research
(iv) Indicate the factor of social change:
A AccommodationB. Acculturation C. Habits D Values
(v) Brohi language of Balochistan was the mother tongue of:
A Austricks B. Dravidians C. Aryans D Turks
(vi) Which one is NOT a factor of socialization?
A Social Group  B. Culture C. Heridity D. Personality
(vii) Physical Environment includes:
A. Norms B. Values C. Religion D Weather
(vili) Pakistan is an country.
A Ideological B. Industrial C. Crganized D Un-ldeclogical
(ix) Common feature of the sub-cultures of Pakistan is:
A Religion B. Food Habits
C. Regional language D. Dresses
(x) inter-Provincial contacts among people promaote:
A National Integration B. Ethnocentrism
C. Terrorism D. Social Disorganization
.(xiy . Anideal National character should be: . .
A, Honest B. Beautiful C. Well off D. Married
(i) What is Socialization?
A Reading B. Learning C. Co-operation D. Competition
{xiii) Disturbance in the patterns of human relation is:
A Social Discrganization B. Social stratification
C. Cuitural change D. Social change
{xiv)  Which social condition is NOT a social problem?
A Earthquake B. Population pressure
C. illiteracy D. Poverty
(xv) imbalance between income and expenditure is a state of:
A Deviance B. Poverty C. Unemployment D. Globalization
(xvi)  Members of a group sharing basic conditions of life are called: :
A Society B. Institution C. Community 0. Race
(xvii)  Which one is the low graded caste in india?
A Brahmans B. Khishtri C Shudras 0. Vashyas
(xviii)  Behaviour that violates significant social norms is :
A Crime B. Deviance C. Social control  D. Social change
(xix) Which one is a cause of llliteracy?
A Low prestige B. lliterate parents
C. Religion D. Poor standard of living
(xx) Which one is significant in conducting social research?
A Information Technology B. Laboratory
C. Electricity D. Books
For Examiner’s use only:
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SOCIOLOGY HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-B if required. Write your answers neatly and legibly.

SECTION - B (Marks 50)

Q.2 a Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 4 lines. (15 x 3 = 45)
)] Write down any three causes of social deviance.
(i) What are the Ideological basis of Pakistani society?

(iif) Write down any three impacts of Physical Envircnment on social life.

(iv) Describe the importance of Information Technology in social research.
(v) Write down any three impacts of Islamic civilization on the civilization of Indo-Pak subcontinent.
(vi) Define social change.

(vii) Write down any three qualities of a national character.

(viii)  What are the important characteristics of a rural community?
(1x) Write down any three steps to control social disorganization.
(x) What is meant by sub-culture?

(xi} Wirite down any three causes of llliteracy.

(xii) What is meant by social problem?

(xii)  What are the factors of population growth?

(xiv)  Write down any three changes occurring in family Institution.
(xv) Write down any three features of Aryan culture.

(xvi)  What is meant by Applied Research?

(xvify What is meant by Poverty?

(xvili) Define Social Control.

(xix)  Write down any three similarities among sub cultures of Pakistan.
(xx) Define Community.

(xxi)  Write down any three factors which hamper social Change.

b. Attempt any ONE part. {1x5=25)
i) Discuss the problems of cultural Integration.
i) What is the role of statistics in Social Research?

SECTION — € (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x10=230)

Q.3 Discuss the role of Islamic values in social control.
Q.4  Explain the characteristics of Dravidian Culture.
Q.5 What do you mean by Research? Explain its functions.

Q.6  Discuss the causes and impacts of poverty.
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